e MED

REFRE AR : ¢ s
BRI ) . )
i = NN
O\ SN
@ o Dbkl o & O o Hbel@E o O il
PT  aall] | E el WL B A el
b o K
G SRR Gi S| R [
978 111 A Py -0 N
Cs B Ci B
CF..AB B B
CF10(V)ABK~ CF10-1(V)ABK CF12(V)AB~CF20(V)AB
BCF..AB 3! T 35108 G
= ESillie= R=F (mm) EAHE | EAHE =N VR HMIEHTTREN =PN A=
BEERE - MR | RO | AWBE |+ =T
(mm) B 5N E TKESMNE]
= R500(CF10 ~ CF18) R1000(CF20 =)
@ | el BEA | A | B2 ([ ED e & < E o S| s & R | 2
= = = S Is f CI’ COI’ IEI%&]\@ i*ﬁﬁl\lgl g
/\ At Rl o Ak Rl o d
h74z | TEiE | wERHE | TEHE | FEHE |0 | C 4| G |G|B1| B2 B3 |C1|d2| H |gil g ¥ 5§ N rpm \ 5 Nm |
CF10ABK CF10UUABK  |CF10RABK CF10UURABK 5390 | 6860 | 6860 | 17000
10 _8015 22 | 12 | 10| M10x1 | 12|36 | 23 — 06| —| 5 |03 15 4700 | 1670 15 45
CF10VABK CF10VUUABK |CF10VRABK  |CF10VUURABK 9510 | 14500 | 7450 | 7500
CF10-1ABK CF10-1UUABK |CF10-1RABK  |CF10-1UURABK 5390 | 6860 | 6860 | 17000
10 _8015 26 | 12 |10 | M10x1 | 12| 36| 23 — 06| —| 5 |03| 15 5490 | 2060 15 60
CF10-TVABK  |CF10-1VUUABK |CF10-1VRABK |CF10-1VUURABK 9510 | 14500 | 7450 | 7500
CF12AB CF12UUAB CF12RAB CF12UURAB 7940 | 9800 | 9800 | 14000
12 _8018 30 | 14 |12 [M12x1.5|13 |40 | 25 6106/ 3| 6 |06 20 7060 | 2450 22 95
CF12VAB CF12VUUAB  |CF12VRAB CF12VUURAB 13430 | 19700 | 11270 | 6000
CF12-1AB CF12-1UUAB  |CF12-1RAB CF12-1UURAB 7940 | 9800 | 9800 | 14000
12 _8018 32 | 14 |12 |M12x1.5|13 |40 | 25 6|06/ 3| 6 |06 20 7450 | 2740 22 105
CF12-1VAB CF12-1VUUAB |CF12-TVRAB  |CF12-1VUURAB 13430 | 19700 | 11270 | 6000
CF16AB CF16UUAB CF16RAB CF16UURAB 12050 | 18330 | 18330 | 10000
16 _8018 35 | 18 | 16 |[M16x1.5|17| 52 325 808/ 3| 6 |06| 24 11200 | 3140 58 170
CF16VAB CF16VUUAB  |CF16VRAB CF16VUURAB 20680 | 37630 | 19800 | 4500
CF18AB CF18UUAB CF18RAB CF18UURAB 14700 | 25200 | 25200 | 8500
18 _8018 40 | 20 | 18 |M18x1.5|19]| 58 |36.5 808/ 3| 6 |1 26 14400 | 3720 87 250
CF18VAB CF18VUUAB  |CF18VRAB CF18VUURAB 25280 | 51350 | 26560 | 3500
CF20AB CF20UUAB CF20RAB CF20UURAB 20680 | 34600 | 32140 | 7000
20 _8‘021 52 | 24 | 20 |[M20x1.5|21| 66 |40.5 908/ 4| 8 |1 36 23200 | 8230 120 460
CF20VAB CF20VUUAB  |CF20VRAB CF20VUURAB 33120 | 64480 | 32140 | 3500
CF..AB XAEIREESLESEMIL (HiBIE), BENRE LG ML SNERE (um) Mt
* FEHE, EAMBITE. CF. W8 XA AR NG R, R, e EFESNE | KESE
RIS EERAMIL. NBELMDE, BAAFETEILMERD 130%. Hhmem, FIOCFIO1CH2 ore 0750 sy @
B1EHZHER T0% CF12-1,CF16,CF18,CF20-1 0/-11 0/-50
CF20,CF24,CF24-1,CF30 0/-13 0/-50 e —
CF30-1,CF30-2 0/-15 0/-50 e llﬂalz.g;% ;?;E

162 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 163



e MED

IRERREASRA c 8
ERE iR 3

L)

..I ;‘—‘ v -
/ CF..AB
BCF..AB 38 e HEhE

da

— N (D
(= il
27 N
G [
BB _ EmmE N

C B.
B1

= ESillie= R=F (mm) BEAHE | EAHE =N VR HMIEHTTEEN =PN A=
BEERE « WA | B | ANEE | x =T
(mm) B 5N E BKEISMNE
R1000(CF20 =)
00> B S e B ) = U )= < E o S| s & R )| 28
= = = S Is f CI’ COI’ IEI%&]\@ i*ﬁﬁl\lgl g
/\ At Rl o Ak Rl o d
h74z | TEiE | wERHE | TEHE | FEHE |0 | C 4| G |G|B1| B2 B3 |C1|d2| H |gil g ¥ 5§ N rpm \ 5 Nm |
CF20-1AB CF20-1UUAB  |CF20-1RAB CF20-1UURAB 20680 | 34600 | 32140 | 7000
20 _8‘021 47 | 24 | 20 |M20x1.5|21 | 66 |40.5 9 (08| 4| 8 |1 36 21000 | 7150 120 385
CF20-1VAB CF20-1VUUAB |CF20-1VRAB  |CF20-1VUURAB 33120 | 64480 | 32140 | 3500
CF24AB CF24UUAB CF24RAB CF24UURAB 30480 | 52630 | 49500 | 6500
24 g 021 62 | 29 | 24 |M24x1.5|25| 80 |49.5 11 (08 4| 8 |1 40 34200 | 10500 220 815
CF24VAB CF24VUUAB  |CF24VRAB CF24VUURAB 46550 | 92020 | 49500 | 3000
CF24-1AB CF24-1UUAB  |CF24-1RAB CF24-1UURAB 30480 | 52630 | 49500 | 6500
24 8 021 72 | 29 | 24 |[M24x1.5|25| 80 |49.5 1108/ 4| 8 |1 40 39800 | 12900 220 1140
CF24-1VAB CF24-1VUUAB |CF24-1VRAB  |CF24-1VUURAB 46550 | 92020 | 49500 | 3000
CF30AB CF30UUAB CF30RAB CF30UURAB 45370 | 85060 | 73700 | 5000
30 8 021 80 | 35 | 30 |M30x1.5|/32/100| 63 15/1]4| 8 |1 46 52600 | 14900 450 1870
CF30VAB CF30VUUAB  |CF30VRAB CF30VUURAB 67620 | 144060 | 73700 | 2200
CF30-1AB CF30-1UUAB  |CF30-1RAB CF30-1UURAB 45370 | 85060 | 73700 | 5000
30 g 1 85 | 35 | 30 |M30x1.5|32/100| 63 1501 14| 8 |1 46 56000 | 16100 450 2030
CF30-1VAB CF30-1VUUAB |CF30-1VRAB  [CF30-1VUURAB 67620 | 144060 | 73700 | 2200
CF30-2AB CF30-2UUAB  |CF30-2RAB CF30-2UURAB 45370 | 85060 | 73700 | 5000
30 8 021 90 | 35 | 30 |M30x1.5|32(100| 63 150114 8 |1 46 59300 | 17300 450 2220
CF30-2VAB CF30-2VUUAB |CF30-2VRAB  [CF30-2VUURAB 67620 | 144060 | 73700 | 2200
CF..AB HRITEIRE LB AT GEBAEN), BENRE LA M. SNBIAE (um) B
« REHE, EANBEDE. NRLWDE, BAAFETEIZMEN 130 &X e ERSNE | kESNE
SR B AR T0% CF10,CF10-1,CF12 0/-9 0/-50 s @
- ’ CF12-1,CF16,CF18,CF20-1 0/-11 0/-50 ESi
CF20,CF24,CF24-1,CF30 0/-13 0/-50 =g
—— s e 12 E
CF30-1,CF30-2 0/-15 0/-50 Fﬁﬁﬁiﬂ Eiﬁtﬂg o

164 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 165





